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Atomic Energy Education Society
Annual Examination- 2021-22
Class: VI Time: 3 Hrs
Subject: English Marks: 80

General Instructions:

1.This paper consists of FOUR sections:

Section A Reading 20 Marks
Section B Writing 20 Marks
Section C Grammar 20 Marks
Section D Literature 20 Marks

2. Attempt all questions.

3. Do not write anything on the question paper.

4. All the questions must be answered in their respective section only.

6. Strictly adhere to the word limit given with each question.

7. Marks are indicated against each question.

8. An additional 15 minutes time has been allotted to read this question paper only.

SECTION A: READING (20 MARKS)

1. Read the following passage carefully and answer the questions that follow. (10 M)

On the bank of a river, there was a tall and sturdy oak tree. Near that oak tree, some reeds had
grown on the ground. The reeds were weak and slender whereas the oak tree looked huge and
stout. The tree was very much proud of his size and strength. He often ridiculed the weak
reeds. One day the oak tree boasted, “Look, how strong | am! I can resist the powerful wind
without bowing down before it. But you reeds are so week that you cannot even sustain the
soft breeze and start trembling with fear.” The tree continued with his boastful talk saying, “I
am so strong that I can even block the way of the wind, whereas you weak vegetations bow

down even before the gentle blow of the wind.”

After hearing enough from the oak tree, the reeds said humbly, “Of course, we are weak in
front of the strong wind and so we pay our respect to the wind by bowing down in front of it.
I think that you should also sometimes bow down in front of the powerful wind.” The

arrogant tree laughed aloud, “Ha, Ha! I am not a reed who bows down to all and everyone.
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I’m a stout oak tree who never bends.” The wind which had been hearing the tree’s arrogant
talk since long, couldn’t tolerate it anymore. It blew so hard that the tall and sturdy oak tree
was uprooted and thrown on the ground. However, the weak and slender reeds survived
because they bowed to save themselves from the strong wind blow. It shows how humility
always wins.
1.1 On the basis of your reading and understanding of the passage, select the most
suitable option to answer the questions below: (6 x 1M =6M)
i. What was the name of the tall and sturdy tree?

a. oak b. reed c. coconut d. arrogant
ii. What happened to the arrogant tree at last?

a. It withstood the wind b. It was uprooted and thrown on the ground

c. It laughed at the reeds d. It bowed down to the wind
iii. What moral do you get from the passage?

a. Reeds are weak b. We should bow in front of wind

c. Humility wins d. We should plant strong trees
iv.Who couldn’t bear the haughty talk of the oak tree?

a. the soft breeze b. the reed

c. the sun d. the wind
v. Pick the odd man out

a. haughty b. docile

c. proud d. arrogant
vi. A word which means the same as ‘mock’.

a. ridicule b. blow

c. slender d. stout

1.2 On the basis of your reading and understanding of the above passage, answer the
following: (2 X 2M =4M)
i. What was the nature of the oak tree?

ii. What was the consequence of pride of the sturdy tree?

2. Read the following passage carefully and answer the questions that follow. (10 M)
Vegetable oil has been known since antiquity. No household can get on without it, for it is
used in cooking. Perfumes maybe made from the oils of certain flowers. Soaps are made from

vegetable and animal oils.
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To the ordinary man, one kind of oil is probably as important as another. But when the
politician or engineer refers to oil, he almost always means mineral oil, the oil that drives
tanks, aeroplanes and warships, motor cars and diesel locomotives; the oil that is used to

lubricate all kinds of machinery. This is the oil that has changed the life of the common man.

When it is refined into petrol, it is used to drive the internal combustion engine. To it, we owe
the existence of the motor car, which has replaced the private carriage drawn by the horse. To
it, we owe the possibility of flying. It has changed the methods of warfare on land and sea.
This kind of oil comes out of the earth. Because it burns well, it is used as fuel and in some
ways it is superior to coal in this respect. Many big ships now burn oil instead of coal. Since
it burns brightly, it is used for illumination; countless homes are still illuminated with oil-
burning lamps. Because it is very slippery, it is used for lubrication. No machine would work
for long if it were not properly lubricated.

2.1 On the basis of your reading and understanding of the passage, select the most
suitable option to answer the questions below: (6 x 1M =6M)

i. Vegetable oil isused for ....................

(a) cooking (b) vehicles

(c) both (a) & (b) (d) none of these

ii. The mineral oil comes from ................
(a) vegetables (b) animals

(c) minerals (d) the earth

iii. Vegetable oil is ....................
(@) the oldest known oil (b) the oil that burns well

(c) the most important oil (d) both (a) & (c)

iv. The refined mineral gives us ...............
(a) vegetable oil (b) petrol

(c) animal oil (d) food

v. Flying has been made possible owing to ...........

(@) mineral ol (b) cooking oil
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(c) Vegetable oil (d) kerosene oil

vi. Find a word in the passage which means the same as ‘lighted’.
(@) locomotives (b) illuminated
(c) lubricated (d) antiquity
2.2 On the basis of your reading and understanding of the above passage, answer the
following: (2 X 2M = 4M)
i. Write any two uses of mineral oil?

ii. Why is petrol considered superior to coal?

SECTION B: WRITING (20 MARKYS)
3. You are Aarush / Aarushi,the CCA Captain of your school. You have found a wrist watch
during a CCA activity. Write a notice in about 50 words to be placed on the school notice

board. Invent the necessary details. Put the notice in the box. (1 X5M=5M)

4. Write a letter in about 100 words to your younger brother who spends a lot of time playing
mobile games ignoring his studies. Instruct him as to what he should do. You are

Vimal/Vimla, Gurpreet Colony, 24/9, Mumbai — 9. Invent necessary details.(1 X 7M =7)

5. Construct a meaningful story in about 120 words using the cues given below and also
your own ideas. Supply a suitable title and moral to the story. (1x8M=8M)

A dense jungle...a crow carrying a chapati...flew to a tree...a hungry fox there.... tempted to
have the chapati... thought of a plan...praised him...requested him to sing...the crow was
very pleased...opened its beak...the chapati fell down...fox picked up...ran away.

SECTION C: GRAMMAR (20 MARKYS)
6. The following paragraph has not been edited. There is a mistake in each line. Identify

the mistake and write the correct word against the incorrect one. One has been done as

an example. (8x1/2M =4 M)
Incorrect Correct

It is narrate about Gandhiji that eg. narrate narrated

he go to England Q) s e

to higher studies at the age of 19. b) ool
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His mother is apprehensive about young man (o) I
going astray on western society. But her fears d). .........
were allayed that Gandhiji €) i,
swore not for touch meat, s
wine and woman. He faces o) P
a lot with difficulties due to his vegetarianism. h)....... . ...

7. Do as directed (Textual Exercises):

A) Fill in the blanks by selecting the most appropriate option. Gx1IM=5M)

a). They should buy some woollens before winter............. (sets down/sets out/sets in/sets

aside)

b). He said he ........... to be invited to the party. We gave up hope of his joining the party.
(hope/hopes/hoped/hoping).

c). Old people often cannot hear very well. They ........ use a hearing aid. (have to/has to/had
to/will)

d) Anwaris ............ than Vijay as well as Akshay.(strong/stronger/the strongest/equal)
e) Mount Everest is the ............ mountain in the world.(tall/taller/tallest/high)

B) Rewrite the given sentences using ‘there’ in the beginning. 3x1IM=3M)
a) The park has beautiful roses.

b) Your story has no fun in it.

¢) This problem can be solved in two ways.

8. Rearrange the following words and phrases to form meaningful sentences. One has

been for you as an example. 4 x1IM=4M)

the spiders/are/not/most of/dangerous
Ans: Most of the spiders are not dangerous.
a. every/found/spiders/are/continent/on/almost.
b. very/helpful/they are/eat/they/because/flies/other/and/insects.
c. don’t/get /caught /spiders /own /in /their/webs.

d. are/ of/beautiful/creatures/most/spiders/in/ nature/one/the
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9. You are Rohan. You went to buy some bouquets from a florist. Complete the dialogue
by choosing the most appropriate option given below. 4AxIM =4 M)

Rohan: Good morning, uncle!

Florist: Good morning! (8)........coveevvuiiiiiicie i e

Rohan: I would like to buy some bouquets for my father’s birthday party.

Florist: What kind of bouquets would you like to buy?

Rohan: (B).......oovvviii i,

Florist: There are many varieties available in my shop. This variety is a big one with roses,
carnations and lilies.

Rohan: Wow! Beautiful one! (C)............ccovviiiiiiiinnnnn.

Florist: It costs Rs. 100/- per piece. But I can give it to you for Rs. 80/- only.

Rohan: Ok. However, do you have any other variety?

Florist: Yes. These ones are smaller ones. If you like them, you can take them as well.
Rohan: No, I love my dad, so I will take those big onesonly. (d)............ccccevennnn..
Florist: Most welcome!

a)i. How I can help you? ii. What | can help you?
iii. How can | help you? iv. How am | helping you?

b).i. How many varieties are available in your shop?
Ii. How many varieties available in your shop?
iii. How are many varieties available in your shop?

iv. What many are varieties in your shop?

¢).i. How much does it costs? ii. How much it cost?

iii. How much it costs? iv. How much does it cost?

d).i. Thank you in showing me the choicest bouquet
Ii. Thank you for showing me the choicest bouquet
iii. Thank you showing me the choicest bouquet

iv Thank you because showing me the choicest bouquet.
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SECTION D: LITERATURE (20 MARKYS)
10. Read the extract and answer the questions that follow. BxIM =3 M)

“When the gong sounds ten in the morning and | walk
To school by our lane,

Every day | meet the hawker crying, “Bangles, crystal
Bangles!”

1. Who is the speaker?
(@) an adult man (b) a hawker

(c) a small boy (d) an old man

2. What is the hawker selling?
(@) toys (b) bangles
(c) watches (d) glasses

3. What does the word ‘gong’ in the extract mean?
(a) honking of school bus (b) a metal, when hit, makes a loud sound

(c) atype of cage (d) atoy

11. Answer any THREE of the following questions in about 30-40 words:(3x2M= 6M)

1. What is Dolma’s ambition? What does she plan to do?

2. Who says this to whom and why - “My wife knows the best how to run the house.”
3. Why was the shop called “Lucky Shop’?

4. Why are darkling beetles called strange insects?

5. What did the cobra and mongoose do to show their readiness for the light?

12. Answer any THREE of the following questions in about 30-40 words:(3x2M= 6M)
1.What did the two friends -the monkey and the crocodile - generally talk about?

2. What happens to our body when we sleep?
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3. What did Saeeda tell the sunrays to do?
4. Why did Makara dislike tortoises?
5. Why did Vijay Singh ask the ghost to accompany him to town next day?

13. Attempt any ONE of the following questions in not less than 100 words. (1xX5M=5 M)

“The Panch knows neither friend nor enemy.” Explain the statement with reference to the
lesson, “Fair Play”.

Or
Imagine you were Prem in the lesson, “What Happened to the Reptiles”. What

message/values would you have carried to the people of your village?
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SUBJECT : MATHEMATICS MAX.MARKS: 80

General Instructions:

1. Answer all the questions

2. There are Two Parts : A and B
Part A contains 30 questions, 1 Mark each
Part B contains Subjective Questions:
Question No. 31 to 34, 2 Marks each
Question No. 35 to 40, 3 Marks each
Question No. 41 to 46, 4 Marks each

3. Draw neat diagrams wherever necessary.

PART - A
(Each Question carries one mark)

1. | Which of the following decimals is the smallest ? 1
a) 0.0009 b) 0.9 c) 0.01 d) 0.001

2 | Which of the following is false ? 1

a)0.23 < 0.24 b) 2.02>220 «c¢) 4 =0.25 d) 3.4=3.400

3. | Convert 630lm into km. 1
a) 63.01 km b) 630.1km ¢) 0.6301km d) 6.301km

4 | The decimal 0.238 is equal to the fraction 1
a) 119/ 500 b) 238/ 25 c) 119/25 d) 119/ 50

5 1.2 lies between 1
a)0and 1 b) 1.0 and 1.1 ¢) 1.0and 2.0 d) 1.2and 1.6

6 |If © ©® represents 100 students in a school, then how many students 1
does © © © © © © represent?
a) 250 b) 500 c) 400 d) 300

7 | Perimeter of an isosceles triangle is 50cm. If one of the two equal sides is 18cm, 1
the third side is

a) l4cm b) 12cm c) 16cm d) 18cm
8 | The distance covered along the boundary of a rectangle is called its 1
a) area b) length c) breadth d) perimeter

9 | The perimeter of a regular pentagon is 60 cm, the length of each side is 1

a) 10 cm b) 12cm ¢)30 cm d) 6 cm
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Atomic Energy Education Society
Annual Examination-2021-22

Class: VI Time: 3 Hours
Subject: Science Marks: 80

General Instructions:

1. The paper consists of four parts, Part —A, Part —B , Part -C and Part -D.

2. Part -A contains 30 questions of 1 mark each.

3. Part -B contains 7 questions of 2 marks each, Part - C 7 questions of 3
marks each and Part-D 3 questions of 5 marks each.

4. Draw neat and labelled diagrams wherever necessary.

5. All questions are compulsory.

PART A
Part A consists of 15 multiple choice questions, 10 very short answer type questions
and 5 assertion reason type questions. (1X30=30)
l. Shadows are: 1
a) Always smaller than the opaque body
b) Always bigger than the opaque body
¢) Remains the same size as opaque body
d) Can be smaller or bigger than the opaque body.

2. 1
(A) (B) (©) D)
In the given pictures, which one shows the correct sign positions?
a) A b) B c) C d)D

3. In the following arrangement the object which would not result in 1

glowing of the bulb when connected across the two ends A and B is-

B

)

k B
— A
a) a metallic spoon b) a metal key
c) a wooden scale d)a pipe made up of aluminium foil
4. A small iron ball is placed between three magnets of equal strengths, as 1

shown in the figure. The magnets are at equal distances from the ball.
The ball will move towards the point-

a) 1 b) II ¢) 1II dy IV



10.

11.

12.

13.

14.
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Which of the following structures is not present in the alimentary canal of 1
red worms?
a) Intestine b) Gizzard c¢) Stomach d) Teeth

Q
ZmEIOw

In the given figure , three torches A,B and C are switched on one by one.
The light from which of the torches will form a shadow of the ball on the
screen?

a) A b) B c) C d) A and B both.
When is a body said to be in motion? 1
a) It remains at one place. b) It moves in a circular path.
¢)It moves in a straight path. d) band c both
What is added to a paste of rice husk and paper to make papier-maché? 1
a) Humus b) Water ¢) Alcohol d) Clay
Tiny bubbles seen on the surface of boiling water is - 1

a) dissolved air escaping when water is heated.

b) dissolved impurities in water escaping when water is heated.

c) dissolved minerals in water escaping when water is heated.

d) salt dissolved in water
When an opaque object comes in the path of light it forms 1
a) an image with colours  b) shadow  c) black and white image
d) shadow which depends on the colour of the light

To make a wall reflect as much light as possible, you should colour it 1
a) White b) Black c) Yellow d) Red
Which of the following processes does not help in recycling carbon 1

dioxide back into the air?
a) Respiration ~ b) Combustion c¢) Photosynthesis d) Burning

Motion of stone tied to a thread in the figure shown above is-
a) Linear b) Circular ¢) Periodic d) Linear and periodic

In the given circuit, the device which is used to function as switch is-
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a) Cell b) bulb c¢) thermocol d) safety pin
15. Magnetism of a magnet is lost by doing which of the following acts. 1
a) Keepinginabox  b)Heating c) Hammering d)Both b and ¢

Answer the follwing in one word or one sentence-

16. How do animals like whales and dolphins breathe? 1

17. Why can hand span or cubit not be used as a standard unit of length? 1

18. Name the device which we can use to measure circumference of a round 1
table?

19. A shopkeeper accidently mixes tea powder with iron filings. Suggest a 1
method to separate iron filings from tea powder.

20. Why we cannot see objects through a U-shaped pipe? 1

21. Where are the poles of a bar magnet located? 1

22. Why is ocean water unfit for drinking? 1

23. What would happen if north pole of a magnet is brought near the north 1
pole of a suspended magnet?
24, Write any two units used in the international system of measurement. 1
25. What type of waste is collected in green bins?
The questions from question number 26 to 30 consist of two statements.
Assertion (A) and Reason (R). Answer these questions selecting the appropriate option
given below:
Both A and R are true and R is the correct explanation of A
Both A and R are true and R is not the correct explanation of A
A is true but R is false
A is false but R is true.
26. Assertion: Evaporation is the process of conversion of water into water 1
vapours.
Reason: Ocean water is the major source of fresh water.
217. Assertion: Rubber is a non-magnetic material. 1
Reason: Rubber balls are not attracted by the magnet.
28. Assertion: Motion that repeats itself after some period of time is called 1
periodic motion.
Reason: Motion of sprinters in a 100 m race is an example of periodic
motion.
29. Assertion: The sun is a non-luminous object. 1
Reason: The sun emits light of its own.
30. Assertion: Trees in mountain region have sloping branches. 1
Reason: It helps to collect rain water.
PART -B
Answer the following in short- (2X7=14)
31. Write any 2 points of difference between transparent and opaque 2

materials.
32. 2

TO®»

Neha used a broken scale to measure length of her pencil. She keeps
pointed end of the pencil at 2cm mark and the other end is kept at 17cm.
What is the actual length of the pencil?

33. Write the adaptation in aquatic plant due to which submerged leaves can 2
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bend and float in water.
34, a) One metre is millimetres. 2
b) Arrange the following in increasing order of length-
2000m, 1km, 100 cm, 200mm
35. We should not add wastes containing salts, pickles, oil, vinegar in 2
vermicomposting pits. Why?

36. Why do mountaineers carry oxygen cylinders while climbing high 2
mountains?
37. What are the special features present in a deer that help it to detect the 2

presence of predators?
Answer the following in 3 to 4 lines cach question.(3X7=21)
38. What are artificial magnets? Draw the different shapes in which artificial 3
magnets are made?

39. 3
The plant shown in the figure has spines and roots go deep inside the
ground.
a) The plant shown could possibly be-
a)Mango tree b)Rose plant c)Opuntia (Cactus)  d)Apple tree
b) Why do such plants have long roots?
¢) Which features in such plants help in reducing transpiration?
(Write any two features.)
40. 3

Draw an electric circuit using the components given above and show the
direction of current flowing through it?
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41. 2 3

3

4
Above figure shows a bulb with it’s different parts labelled .
a) Identify the part which glows when electric current passes through it.
b) Identify the parts which are the two terminals of the bulb.
¢) When is an electric bulb said to be fused?

42. a) Separate the following garbage into two groups: Those whichdo 3
not rot and those which rot when buried.
Dried leaves, leftover food, plastic toys, vegetable waste,
glass jar, aluminium wrappers, fruit peels, used tea leaves
b) Write one difference between composting and vermicomposting?

43.

A P ik £ Syt bl =
A farmer named Shyam collected dry leaves, husk and part of crop plants
from his field and burnt them.
a) Is burning a good practice to dispose farm waste? Give reason to
support your answer.
b) How could this waste be converted to something useful? Suggest.
44. Answer the following in one word/ phrase: 3
a) Example of a plant which can reproduce from a bud.
b) A life characteristic which is essential for living organisms to
produce their own kinds.
c) Example of a plant which can reproduce through cutting.
d) The process of getting rid of body wastes by living organisms.
e) An example of a plant responding to stimuli.
f) One characteristic of frog which helps them swim in water.
Answer the following in 4 to 5 lines each question - (5X3=15)
45. Observe the given figure and answer the questions. 5

plane
mirror

(a) Why is Sahil not able to see through the wall?
a)The wall is transparent. b)The wall is translucent.
¢)The wall is opaque. d)The wall is reflective

(b) Can we use cardboard instead of a plane mirror in this device?
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(c) Name the device. What kind of image is formed in this device,
erect or upside down?

46. 5

a) The name of the cycle depicted in the given figureis

b) State the names of processes A and B.

c) Out of the two processes A and B which one helps in drying up
of wet clothes.

d) Name two sources of ground water.

e) Name the two processes by which water vapours enter air.

47. P, Q and R are the three gaseous components of air. Gases P and Q can 5
dissolve in the water of rivers, lakes and seas, but gas R does not dissolve
in water. The organism S which lives in the water uses gas P dissolved in
water to make its food by the process of photosynthesis. All the
organisms which live in water use gas Q dissolved in water for releasing
energy from food. Gas R is the major component of air.

a) Name the gases P and Q?

b) What is the organism S?

c) Name the gas R which does not dissolve in water.

d) List four activities that are possible due to the presence of air.
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General Instructions:

. Read the question paper carefully.

. All the questions are compulsory to attend.

. This question paper consists of four sections A, B, C, & D.

. Section A has 30 multiple choice questions and each carries 1 mark.
. Section B has 5 questions. Each carries 3 marks.

. Section C has 6 questions. Each carries 5 marks.

. Section D has 5 map questions and each carries 1 mark.
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. Attach your map with answer sheet securely.

SECTION — A (MULTIPLE CHOICE QUESTIONS (30x1=30)

Choose the correct option.

1

. Who does the work of measuring land and keeping land record?

(a) District Collector
(b) Tehsildar

(c) Patwari

(d) S.H.O

. Which agency replaces the broken street lights, collects the garbage, provides water supply

and keeps the market clean?
(a) Municipal Corporation
(b) Hospital

(c) Police

(d) Health Inspector

. Who takes the complicated decisions that affect the entire city?

(a) A group of councillors
(b) A group of teachers
(c) A group of doctors

(d) A group of Patwaries
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. People of Chizami village do cultivation.
(a) Dabi
(b) Terrace
(c) Dahia
(d) Bewar

. Which one of the following is not the job of the Municipal Corporation?
(a) It keeps the streets and markets clean.
(b) It makes gardens and maintains them.
(c) It builds hotels for the tourists

(d) It runs schools, hospitals, and dispensaries.

. Who is Bachchu Manjhi?
(a) Engineer
(b) Dentist
(c) Rikshaw-puller
(d) Teacher

. Where did Mohan go after being beaten up by Raghu?
(a) Hospital
(b) Clinic
(c) Police Station
(d) Post Office
. What is the main work of the Patwari?
(a) Measuring land and keeping land records
(b) Issuing Birth Certificate and Death Certificate
(c) To Register FIR
(d) To maintain law and order

. The local government Municipal Council is found in

(a) Capital cities

(b) Small towns

(c) Villages

(d) Metropolitan cities
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10. The wearing away of the earth’s surface is called
(a) graben
(b) plateau
(c) erosion

(d) deposition

11. Which one of the following is the youngest fold mountain range in India?

(a) Aravalli Hills
(b) Eastern Ghats
(c) Western Ghats
(d) Himalayas

12. The Indian island in the Arabian Sea is known as
(a) Andaman Island
(b) Maldives
(c) Lakshadweep
(d) Nicobar Island

13. Where is the location of the Bay of Bengal?
(a) In the east direction of India
(b) In the West direction of India
(¢) In the north direction of India
(d) In the South direction of India
14. Mahogany and rosewood trees are found in
(a) Tropical evergreen forest
(b) Tropical deciduous forest
(c) Mangrove forests

(d) Mountain vegetation

15. What would happen if the monsoons are weak in a year?

(a) Water level will go-down
(b) Crops will be affected
(c) Summer will be longer

(d) All of these
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16. Who went door to door to find out whether anybody died there?
(a) Kisagotami
(b) Shakuntala
(c) Shaunaka
(d) Abhipratarin

17. People who had no land of their own and worked for others were:
(a)Independent farmers
(b) DasaKaramakara
(c) Herders
(d) Grihapatis

18. Which of the following is not a Maurya ruler?
(a) Chandragupta
(b) Bindusara
(c) Ashoka
(d) Bimbisara

19. Name the coastal settlement in Pondicherry which had close contact with Rome.

(a) Masulipatinam
(b) Surat

(c) Arikamedu

(d) Barygaza

20. Mathura became the second capital of

(a) Mauryas
(b) Kushanas
(c) Pallavas
(d) Guptas
21. From where did the term ‘India’ derive?
(a) River Indus
(b) River Ganga
(¢) River Yamuna

(d) River Mahanadi
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22. Which of the following is the smallest continent?
(a) Africa
(b) Asia
(c) Australia
(d) Antarctica

23. Name the two important characters of Abhijana Shakuntalam.
(a) Dushyanta and Shakuntala
(b) Harshavardhana and Shakuntala
(c) Ashokaand Damayanti
(d) Bharata and Menaka

24, are grand, long compositions, about heroic men and women, and

include stories about gods.
(a) Vedas

(b) Upanishads

(c) Inscriptions

(d) Epics

25. Who is recognised as the author of the Sanskrit Ramayana?
(a) Vyasa.
(b) Valmiki
(c) Charaka
(d) Kalidasa

26. In which city is the iron pillar of Mehrauli located?
(a) Meerut
(b) Mathura
(c) Delhi
(d) Chandigarh
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27.

28.

29.

30.

31.
32.
33.
34.
35.

In which book were Chanakya’s ideas written?
(a) Ramayana

(b) Mahabharata

(c) Arthashastra

(d) Harshacharita

Who were known as lord of dakshanipath?
(a) Chandragupta

(b) Bindusara

(c) Gautamiputra Sri Satakarni

(d) Kanishka

Assertion: Lakshadweep Islands are coral islands located in the Arabian Sea.

Reason: When the living polyps die their skeletons are left. Other polyps grow on top of
the hard skeleton which grows higher and higher, thus forming the coral islands.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true and R is not the correct explanation of A

c) A is true but R is false

d) A is false but R is true

Assertion: Tamil Nadu and Andhra Pradesh receive rainfall during the season of the
Retreating Monsoons.
Reason: Monsoon is taken from the Arabic word ‘mausim’, which means seasons.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true and R is not the correct explanation of A
¢) A is true but R is false
d) A is false but R is true
SECTION - B
Answer the following questions in short (Attempt any 5 only) (5X3 =15 Marks)
Write a note on assemblies and their functions in the southern kingdoms.
What are the differences between Evergreen Forest and Deciduous Forest?
Describe the functions of the ‘gramabhojaka’. Why do you think he was powerful?
What is the work of the police?

List the three situations in which crops can be ruined.
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36
37

38.
39.
40.
41.
42.
43.
44.
45.

46

. Why is the biosphere important for living organisms?
. Why are the river plains thickly populated?
SECTION -C
Answer the following questions (Attempt any 6 only) (6X5= 30 Marks)
What were the main teachings of the Mahavira?
What were the problems that Ashoka wanted to solve by introducing ‘dhamma’?
What were the main features of Bhakti?
How does the Municipal Corporation earn the money to do its work?
In what ways is a permanent and regular job different from a casual job? Discuss.
Write about the major oceans of the world.
How are the mountains useful? Explain.

What should we do to conserve wildlife?

SECTION -D
Attempt all parts of this section: (5X1=5 Marks)
. (A). On the given outline map of India mark and label the following places:
(A-i) Puhar (Kaveripatinam
(A-ii) Nalanda
(A-iii) Kalinga

(B). On the outline map of India mark and label the following:
(B-i) The Great Indian Desert
(B-ii1) Andaman and Nicobar Islands
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